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.param simtime=(dlycyc+numcyc)/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)

.tran 0 {simtime} {dlytime} {numsampl}

.param Vin 1

.param Vpsu 56

;step param Voffset 23k 24k 0.1k

.param voffset 23k45

.param rlccs 110

MUR460

MUR460

MUR460

MUR460

2W

2W

BP

2W

(-)

(+)

Low Cob

Clead

(-)

(+)

this amplifier with current feedback shouldhave feedback low impedance.

Phase lead compensation - the trick here is not to over-do it. 
I've shown C27 at 10pF and you likely don't want to go higher. 
If anything you want to try a little less and you can also try it without C27. 
In practice, C27 reduces the amount of VAS compensation you might need.

Nested feedback - R24 provides for feedback from the VAS.
It will reduce the amount of feedback from the output stage. 
Therefore, it affects the overall compensation. 
It's optional, you can leave it off to start with.
 Including R24 may reduce the amount of VAS compensation needed for stability. 
It affects the behaviour of the amplifier in a subtle way and is another part that can be used to 'voice' the amplifier. If trying other values make bold changes, such as try half or twice the value.
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This turns off data compression that LTspice normally uses to save space
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